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Final Examination

Section A: VLR LF O ¢ BaTRE g

Define the Following 1;: T
Condition of L lines '

Condition of two Il lines

Slope of a line

Convention of sign

Slope intercept form

Intercept form

Collinear

Circumference of circle

Section formula

. General equation of circle
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Section B:

Explain briefly

a. Convert into the intercept form of 3x + By =12

b. Convert into the slope intercept form 3x + 9y = 18 ,

c. Find the unique solution of two lines x + 3y=4and x-5y=-4 : L
d. Ifthe centreis (1,2) and radius is 3, find the equation of circle. ' Lo
e. Find the equation of Il line, which is Il to 2x + 3y +2 = 0:and passing through (1,2)
i
g
h

10X 1=10] :

Find the equation of _|_ line which is perpendicularto 2x + 3y + 6 =0 and pasisin'g- th‘rough,"(‘z,ﬂ);
Find the centre and radius of the circle, whose equation’is x? + y2- 2x- + By+3=0

Find the value of y from the equation x — 3y + 4 = 0, if x =2
Find the value of x from the equation 3x + 4y +3=0,ify==-1

-

Find the intersection point of 3x + 2y=5andx-y=0 ; :
Section C: "5 X 0.5=[2.5]
Mark True or False L
a. Intercept form of 4x+16y=32 is -;5 + % =1 , : ;o True /"-F__.alse '
b. For equation of circle x2+y?+2x+By+4=0. its center is (-1.-3) and radius.is V6 True/False :

c. Equation of | line which Is | to 2x+3y+7=0 and passing through (1,2) is 3x-2y-'4=.0 i True I'Ralse

d. Intersection point of 3x+2y=10 and x + y=4is -True / False
e. Forline 3x+4y=12, its slope intercept form is - Ex +3 'I?rue / False
Section D: | b= 5X,0.5 = [2.5]
Multiple choice questions: o o o
a. Distance between two points (2, -3); (1,1) is & oo
i V17 (i) 17 (i) V13 (V13
b.  The eqn. of line which passes through (2,3) and slope m=3is ' . .; '
i. 3x~-y—-3=0 (i) x-3y+3=0 ‘ “(iii)xﬁy+5=(;3 o v)x+2y=0
C. Fory=mx+c, ifm=3 x=1/3 c=0then , Co : o -
Loy=1 (i)y=2 (iiyy =3 (V)y=-4
d. Equation of line passing through the point (-3, 4) and (1,-3) is E e
. 7X+4y+5=0 (i)4x -7y +5=0 (i) 4x + 4y +7 =0 (iv)‘x—3y+-2=:O
17>+ 2 = 1, then it can be written as - | iy
L X +2y-10=0 (i) 2x + Sy-10=0 (i) 2x - y+6=0" - (iv) None of these: :

[




5. SecuonE A ;'7 PN 10 X 0.5 = [5]
Match the followmg ' !

“e For eqn. of carcle x2 ¥ + 4x +8y 2 =0, its centeris i 3
f e ' 5
b.: intercept form of 4>< + 8y 24 |s = i. -2,-4
G 1 ‘Find the equa'uon X2+ y2=4, what isxwheny =2 i Epdesd
| 6 3
d.: lax+ Sy—12 %:O then sldpe is | iv. x=0
e. ' j”.te,rsecti‘on of twp lines 2x +3-Y =7andx+y=3 | v.dx +2y—6=0
£ Areaof A ;j : g vi. 4

(0,0) (a0

g.: Find the equafioh of parallel Iin;é,wrhich islltodx+ 2y +6 =0 and vii. (2,1)
i passes through (1, 1) :

h For3x+4y+2 Oifx—2themy|s viil, -1

P The area of formed by the points (0,0), (2,2), (4,4) is ix. -2
j. For two perpend&cu!ar lines the product of their slope is x 0
6. Sectlon F: et e o 5 X 5= [25]

" Explain;in details
“(a) 5x 4 3y =16 and x~ 5y = —8 mtersects at a point. Find their point of intersection.
“(b) Fmd the area ofA ABC whose vertices are (1.4), (3,-2), (-3,16).
o (o) Fmd the equanon [l line which is parallel to 3x + 7y + 6 = 0 and passing through (2,3) point.
| L (d) Flnd the equat on of mrcle passmg through the points (2,1), (2,-9) and (5,-8). Find the centre and radius
aisd |
(e) Fmd the equa’uon of_!_ line whichis | to 3x -7y +2=0and passing through (2,1).




